%3 ¢

RIIKRE ] REFRELHG A FRE

MERMELELA ftE T B ¥ %

63

ERREHIT 'V,

2

B 3L (% B 2. x4

1. (15%)

2. (20%)

3. (20%)

4. (20%)

5. (25%)

2
Solve xy’ =2y y.
x

Find the general solution of the differential equation,
Y"=3y'+2y=10sin(x)

Use the Laplace transform to solve the initial value problem.
V'+2) +2y=8(1-4); p0)=y'(0)=0

Solve the partial differential problem.
ou’  ou’
— + ———
ax? @t
u(x,0)=0 (x>0),
-5<y<50
0,
u(0,y) = y<-1
2, =-78y<-5

=0 (x>0,y<0),

Evaluate both sides of Stokes’s Theorem,
j; VOdI?=I neVxvdo
C S
where ¥ =27+ yz*J + xk and § is the plane with corners at

(1,0,0), (0,2,0), (0,0,1) as shown, and verify that the results
do agree.




